[image: image4.png]


       Peter Faulks     Teacher Resources Web Site

[image: image1.wmf]

Mathematics
[image: image4.png]
Items highlighted in yellow are tasks for you to complete
Items in Blue italics are help tips

Level 5 Gold Mathematics Quiz

Answer all 12 questions

Question 1

The angles of a triangle, measured in degrees, are all square numbers. What is the size of the largest angle?
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Answer: 

Question 2

Find a number whose double is bigger than its half by  99.

Answer: 

Question 3

If we define  a(b = a+b  ,  then  6 (  ( 6 ( 6 )  equals….
        ab

Answer: 
Question 4

A  ladybug crawls around the outside of a square of side 1 metre, at all times keeping exactly 1 metre from the boundary of the square. The area enclosed, in square metres, in one complete circuit by the beetle, is…….






[image: image7.png]


  

Answer: 
Question 5

If 6 sups are equivalent to 1 rop, 1 lit is equivalent to 8 daps, and 4 daps are equivalent to 1 sup, how many lits are equivalent to 1 rop?
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Answer: 
Question 6

My  mother gives out pocket money in our family. Sara gets twice as much as I do, but I get one and a half times as much as my younger brother. If my mother pays out $13.20 a week, how much do I get?
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Answer: 

Question 7

Five cards are numbered  1,   2,  3,  4,  5.  The cards are shuffled and three cards are drawn at random.


Calculate the probability that their sum will be odd.
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Answer:  
Question 8

Two cubes have volumes in the ratio  1:27.  Find the ratio of  the  area of one face of the smaller cube to one face of the larger.
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Answer: 

Question 9


If  a – b  =  8  and  c =  4  then  the  value  of


[ (a – b ) – c ] [ a – ( b – c )]  is:

Answer: 
Question 10


If you multiply together all the factors of  100, how many zeroes will there be on the end of the answer?

Answer: 
Question 11

When Amy was knitting with 8 ply 
   wool she needed  22  stitches on her 
   needles for every 10 cm of finished 
   knitting. To make the front of her 
   jumper which is  45  cm wide, how 
   many stitches would she need to use?

Answer: 
Question 12

When my age is divided by  2, 3, 4, or 6 there is always a remainder of  1,  but when divided by  7 there is no remainder. How old am I?

Answer: 
Question 13


Seven white cubes and twenty red cubes, all of equal size,  are fitted together to form one large cube, as shown in  the  figure. What is the smallest fractional part of the surface area that could be white?


Answer: 
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